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EFRAS R H S
2016 &£ 11 B
YE5 AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.00-0.19 0.02 &
LA i 1.512 0.01-0.76 0.09 =
/L4, (HCI) 4,545 0.01-0.40 0.20 =
mIbE (HF) 0.306 0.00-0.10 0.03 s
—&/Ehi (SO2) 15.147 0.01-5.62 2.63 =
—4& kbR (CO) 7.578 0.00-0.18 0.05 =
FALY) (NOx)
PL=&dE%E (NO2) 30.303 1.05 - 12.13 4.02 =
EFE
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.00 — 0.05 0.02 &
LA 0.756 0.03-0.16 0.09 =
#F/bE (HCI) 0.756 0.08 —0.31 0.20 s
wAbE (HF) 0.072 0.02 - 0.04 0.03 =
— &b (SO2) 3.789 2.26 —3.17 2.63 =
—&Ei% (CO) 3.789 0.02-0.15 0.05 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.57 — 7.46 4.04 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.006 &
IR R g ) 7.575 x 10°° <6.627x1010 &
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EFRAS R H S
2016 &£ 11 B
&% BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.00 — 0.33 0.01 &
LA i 1.512 0.00 - 0.90 0.06 =
Z/LE (HCD 4,545 0.03-0.29 0.17 TE
mIbE (HF) 0.306 0.01-0.08 0.03 s
—&/Ehi (SO2) 15.147 0.40 — 6.83 2.12 =
—& L% (CO) 7.578 0.00 - 0.10 0.02 =
FALY) (NOx)
PL=&dE%E (NO2) 30.303 0.77-7.58 2.61 =
EFE
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.00 — 0.04 0.01 &
HEA T 0.756 0.00-0.13 0.06 =
/L4, (HCD 0.756 0.08 - 0.22 0.17 =
wAbE (HF) 0.072 0.02—0.03 0.03 =
— &b (SO2) 3.789 1.78 — 2.96 2.12 =
—& L% (CO) 3.789 0.01-0.04 0.02 =
FHAY (NOx)
DL=%AEE (NO2) 15.147 1.66 — 4.43 2.61 =
SHE
28 HERRE® RS S R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0015 =
R A 0.0378 <0.0069 &
IR R g ) 7.575 x 107 <7.590 x 1020 &
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2016 &£ 11 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.00 - 0.29 0.01 &
LA i 1.512 0.00 - 0.82 0.07 =
Z/LE (HCD 4,545 0.01-0.27 0.12 TE
mIbE (HF) 0.306 0.00-0.10 0.02 s
—&/Ehi (SO2) 15.147 0.01 — 6.04 1.82 =
—4& kbR (CO) 7.578 0.00 — 0.09 0.01 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.73-7.72 2.25 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.00 — 0.03 0.01 &
HEA T 0.756 0.00-0.17 0.07 =
/L4, (HCD 0.756 0.07-0.19 0.12 =
wAbE (HF) 0.072 0.02 - 0.04 0.02 =
— &b (SO2) 3.789 1.18 — 2.05 1.82 =
—& L% (CO) 3.789 0.00 —0.03 0.01 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.45-3.73 2.25 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.0007 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0056 &
IR R g ) 7.575x 10°° <6.327 x 1010 =
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